4-6
The Method of Sections

The Method of Sections
B Cut a section through the truss

B Draw a Free-Body Diagram of either portion of the truss

B Forces in the members cut become external forces

B The forces are nonconcurrent. The three independent equations of equilibrium can be used to solve for

no more than three unknown member forces.
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Example 1

Using the Method of Sections determine the force in members BD, BE, and CE. Indicate whether the

members are in tension or compression.
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Example 2. Use the Method of Sections to determine the force in members BC, CF, and FG.
a
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